Packing List

TRIP NO

DATE

28297482

12-06-23

Ship To:

CUSTOMER PO: Not Applicable
CUSTOMER NO: 1891

SHIPPING METHOD: ROAD
SHIPPING PRIORITY: Not Applicable

INNIO CONTACT DETAILS

CONTACT NAME: witsch, stefan

INNIO SALES ORDER NO: 60852 SHIPMENT TYPE: New Units TELEPHONE:
FREIGHT CHARGE: CARRIER: Truck EMAIL:
INCO-TERMS: CIF TRACKING NO:
PACKING LIST: 1387238
PROJECT NAME: LONGCOAL JIXI PILOT LCMM
PROJECT NUMBER:
DELIVERY NO: 6970578340
COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
1/1 J4266617 CARTON ON 80 x 60 x 92 0,44 34,000 56,000 | ACCESSORY PARTS
PALLET
BOX CONTENT
SO LINE LPN NO KIT Item PART NUMBER DESCRIPTION QTY UOoOM NET WEIGHT(KG)
No. SERIAL NUMBER
15.1..1 J4266617 na 369910 Flow Control Valve..TecJet 110.DN100.electrical.DC 24 1 EA 34,000

TOTAL PACKAGES

TOTAL NET WEIGHT (KG)

TOTAL GROSS WEIGHT (KG)

TOTAL VOLUME (M3)

1

34,000

56,000

0,44

Page 1 of 20




PACKING LIST: 1394273

PROJECT NAME: LONGCOAL JIXI PILOT LCMM
PROJECT NUMBER:

DELIVERY NO: 7005153388

Packing List

COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
1/1 J4319938 CARTON ON 120 x 80 x 92 0,88 68,000 105,000 | ACCESSORY PARTS
PALLET
BOX CONTENT
SO LINE LPN NO KIT Item PART NUMBER DESCRIPTION QTY UOM NET WEIGHT(KG)
No. SERIAL NUMBER
15.1..1 J4319928 na 369910 Flow Control Valve..TecJet 110.DN100.electrical.DC 24 1 EA 34,000
15.1..1 J4319938 na 369910 Flow Control Valve..TecJet 110.DN100.electrical.DC 24 1 EA 34,000

TOTAL PACKAGES

TOTAL NET WEIGHT (KG)

TOTAL GROSS WEIGHT (KG)

TOTAL VOLUME (M3)

1

68,000

105,000

0,88

Page 2 of 20




PACKING LIST: 1395925
PROJECT NAME: LONGCOAL JIXI PILOT LCMM
PROJECT NUMBER:

DELIVERY NO: 7025158420

Packing List

COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT | GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
1/1 J4333722 CARTON 20x15x 10 0,00 3,500 0,360 | ACCESSORY PARTS
BOX CONTENT
SO LINE LPN NO KIT ltem PART NUMBER DESCRIPTION QTY UoM NET WEIGHT(KG)
No. SERIAL NUMBER
42.1 J4333722 na 1234057 Transducer 1 EA 3,500

TOTAL PACKAGES

TOTAL NET WEIGHT (KG)

TOTAL GROSS WEIGHT (KG)

TOTAL VOLUME (M3)

1

3,500

0,360

0,00

Page 3 of 20




PACKING LIST: 1407060
PROJECT NAME: LONGCOAL JIXI PILOT LCMM
PROJECT NUMBER:

DELIVERY NO: 7089893172

Packing List

COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT | GROSS CONTENT DESCRIPTION
NO. NUMBER (C™M) (KG) WEIGHT (KG)
1/1 J4437808 CARTON ON 80 x 60 x 62 0,30 27,664 39,000 | ACCESSORY PARTS

PALLET

BOX CONTENT

SO LINE LPN NO KIT Item PART NUMBER DESCRIPTION QTY UOM | NET WEIGHT(KG)

No. SERIAL NUMBER
11 J4438739 na 1223417 Electric equipment..Commissioning package of.several electrical parts | 1 EA 9,000
3.1.1 J4437597 na 1250505 Key..SW 7/8" 1 EA 0,500
31.3 J4437804 na 335875 Rack 1 EA 3,140
5.1 J4438786 na 1246576 Oil sample tester..Case with 9 samples 1 EA 3,200
4.1 J4437618 na 1256900 Tool..Set.Re-gapping tools 1 EA 1,000
3.1.4 J4437799 na 1205389 Tool.Tool.Toolbox.series 4 1 EA 6,200
2.1 J4437808 na 400741 Sign 2 EA 4,500
3.1.2 J4437604 na 335871 socket for wrenches..Insert.24mm;1/2" 1 EA 0,124

TOTAL PACKAGES

TOTAL NET WEIGHT (KG)

TOTAL GROSS WEIGHT (KG)

TOTAL VOLUME (M3)

1

27,224

39,000

0,30

Page 4 of 20




PACKING LIST: 1407098

PROJECT NAME: LONGCOAL JIXI PILOT LCMM
PROJECT NUMBER:

DELIVERY NO: 7089893174

Packing List

COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT | GROSS CONTENT DESCRIPTION
NO. NUMBER (C™M) (KG) WEIGHT (KG)
1/2 J4437617 CARTON ON 120 x 80 x 92 0,88 223,511 249,000 | ACCESSORY PARTS

PALLET

BOX CONTENT

SO LINE LPN NO KIT Item PART NUMBER DESCRIPTION QTY UOM | NET WEIGHT(KG)

No. SERIAL NUMBER
18.1..1 J4437806 na 1207424 Valve 1 EA 18,400
21.1.2 J4437812 na 1210363 Servomotor 1 EA 4,100
24.1..2 J4435852 na 103143 Gasket.Gasket.DN65.x.2 2 EA 0,058
22.1.7 J4435791 9039011 102162 Spring washer..Conical spring washer.23.x.10,5.x.2,5.ST 12 EA 0,084
22.1..16 J4435819 9039011 100452 Hexagonal head screw..M10.x.x.35.ST 10 EA 0,310
18.1..5 J4435820 na 100501 Hexagonal head screw..M16.x.x.55.ST 12 EA 1,320
36.1..10 J4435836 na 101207 Straight screw connection 1 EA 0,262
21.1.3 J4437807 na 106554 Flange 3 EA 12,780
24.1.1 J4437803 na 302635 Compensator.Expansion joint. DN65.x.140.PN16 2 EA 12,200
36.1..7 J4435853 na 104069 Sealing ring 2 EA 0,008
36.1..9 J4437607 na 104233 Hose..x.500 1 EA 0,422
22.1..2 J4437617 9039011 9039009 Sealing 1 EA 0,020

Page 5 of 20




Packing List

28.1.4 J4435789 na 100639 Sealing ring..12.2.x.1.5.Cu 1 EA 0,001
37.1.5 J4435799 na 101829 Hexagonal nut..M16.ST 8 EA 0,240
23.1.4 J4435808 na 101788 Hexagonal nut..Prevailing torque type.M16.ST 16 EA 0,608
41.1..2 J4435814 na 100357 Hexagonal head bolt..M20.x.75.ST 24 EA 5,568
25.1..2 J4435832 na 101208 Straight screw connection..DIN 2353.28 2 EA 0,680
36.1..6 J4435837 na 100900 Straight screw connection 2 EA 0,380
35.1.4 J4435840 na 395359 Pressure gauge 2 EA 0,600
36.1..8 J4437809 na 1215916 Pipeline 1 EA 0,986
21.1.1 J4437802 na 1207426 Valve..3-way.DN100 1 EA 33,000
22.1..5 J4437805 9039011 211078 Flange..300 1 EA 13,800
23.1..1 J4437813 na 416985 Compensator 2 EA 16,180
28.1..1 J4437691 na 102981 Sealing ring..18.x.2 20 EA 0,028
39.1 J4437698 na 102795 Safety valve 1 EA 1,150
29.1 J4437628 na 1254663 Spark plug..P3V3i.M18x1.5.0.35 1 EA 0,110
23.1..3 J4435812 na 100331 Hexagonal head bolt..M16.x.65.ST 16 EA 1,920
15.1.2 J4435844 na 100606 Gasket.DN100.x.2 6 EA 0,234
22.1..11 J4435803 9039011 101855 Hexagonal nut..M20.ST 12 EA 0,672
22.1..10 J4435807 9039011 101815 Hexagonal nut..M10.ST 2 EA 0,021
37.1.4 J4435821 na 100501 Hexagonal head screw..M16.x.x.55.ST 8 EA 0,880

Page 6 of 20




Packing List

22.1..13 J4435854 9039011 101046 Stud bolt..M10.x.x.30.ST 2 EA 0,042
13.1.1 J4438800 na 1242329 Plate 8 EA 18,640
28.1..3 J4437601 na 550404 Thermocouple..M12.x.90.800 1 EA 0,138
38.1 J4437705 na 198655 Pressure switch 1 EA 1,000
15.1.4 J4435796 na 101829 Hexagonal nut..M16.ST 48 EA 1,440
18.1..6 J4435797 na 101829 Hexagonal nut..M16.ST 12 EA 0,360
35.1..10 J4435815 na 100492 Hexagonal head screw..M16.x.x.35.ST 16 EA 1,344
22.1.9 J4435816 9039011 100481 Hexagonal head screw..M12.x.x.60.ST 12 EA 0,720
36.1..3 J4435824 na 104076 Straight screw connection..DIN 2590.3/4.A | 1 EA 0,334
36.1..5 J4435831 na 117445 Double nipple 1 EA 0,100
18.1..3 J4437801 na 103142 Flange 3 EA 9,180
21.1.4 J4435846 na 100606 Gasket.DN100.x.2 3 EA 0,117
37.1.3 J4435849 na 104137 Gasket.DN50.x.1.8 2 EA 0,046
15.1..3 J4435857 na 100587 Hexagonal head screw..M16.x.x.60.ST 48 EA 5,520
22.1.4 J4438791 9039011 613712 Sealing 1 EA 0,403
14.1..1 J4438803 na 1242329 Plate 16 EA 37,280
27.1..1 J4437609 na 1239446 Sign 2 EA 0,100
35.1..6 J4437720 na 402274 Ball valve 2 EA 0,440
22.1..8 J4435795 9039011 101167 Spring washer 24 EA 0,274

Page 7 of 20




Packing List

41.1.3 J4435805 na 101855 Hexagonal nut..M20.ST 24 EA 1,344
22.1..14 J4435813 9039011 100357 Hexagonal head bolt..M20.x.75.ST 12 EA 2,784
35.1..7 J4435825 na 110473 Elbow fitting 2 EA 0,552
25.1..3 J4435835 na 100924 Straight screw connection 2 EA 0,580
25.1..1 J4437800 na 106946 Hose..DN25.x.500 2 EA 1,190
37.1.2 J4437858 na 100007 Flange..DN50.10.BST 2 EA 4,940
23.1..2 J4435848 na 100606 Gasket.DN100.x.2 2 EA 0,078
18.1..4 J4435850 na 103143 Gasket.Gasket.DN65.x.2 3 EA 0,087
36.1..2 J4437594 na 110954 Filling valve 1 EA 0,900
21.1..6 J4435798 na 101829 Hexagonal nut..M16.ST 24 EA 0,720
22.1..12 J4435800 9039011 101823 Hexagonal nut..M12.ST 12 EA 0,180
21.1..5 J4435810 na 100331 Hexagonal head bolt..M16.x.65.ST 24 EA 2,880
35.1..8 J4435830 na 100168 Double nipple 2 EA 0,182
27.1..2 J4435839 na 9028065 Blind rivet 8 EA 0,008
41.1.4 J4435843 na 101235 Gasket 2 EA 0,364
18.1..2 J4437810 na 1210363 Servomotor 1 EA 4,100
35.1.5 J4435856 na 405898 Sleeve 2 EA 0,200
24.1..3 J4435858 na 100587 Hexagonal head screw..M16.x.x.60.ST 8 EA 0,920
35.1..1 J4438782 na 102150 Flange..EN 1092.DN50 2 EA 5,000

Page 8 of 20




Packing List

35.1..2 J4437613 na 113343 Valve 2 EA 7,320
22.1..15 J4435794 9039011 111260 Spring washer..Conical spring washer.45.x.21.x.5.ST 24 EA 1,152
24.1.4 J4435809 na 101788 Hexagonal nut..Prevailing torque type.M16.ST 8 EA 0,304
35.1..9 J4435826 na 104096 Welding nut 2 EA 0,180
36.1.4 J4435827 na 104078 Fitting 1 EA 0,187
22.1..6 J4435841 9039011 107744 Gasket 1 EA 0,260
COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT | GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
2/2 J4436327 CARTON ON 120 x 80 x 92 0,88 133,060 135,000 | ACCESSORY PARTS

PALLET

BOX CONTENT

SO LINE LPN NO KIT ltem PART NUMBER DESCRIPTION QTY UOM | NET WEIGHT(KG)

No. SERIAL NUMBER
28.1..2 J4436327 na 262769 Holder..380.x.120.x.40 1 EA 1,000
37.1..1 J4352290 na 1213286 Pump..Circulation.CR20-2.DN50PN10 1 EA 54,000
36.1.1 J4434957 na 1257769 Container.Expansion vessel. REFLEX S50.50 1 EA 8,060
41.1.1 J4436609 na 1256065 Conduit.Metal hose 2 EA 70,000

TOTAL PACKAGES

TOTAL NET WEIGHT (KG)

TOTAL GROSS WEIGHT (KG)

TOTAL VOLUME (M3)

2

373,971

384,000

1,77

Page 9 of 20




Packing List

PACKING LIST: 1407086

PROJECT NAME: LONGCOAL JIXI PILOT LCMM
PROJECT NUMBER:

DELIVERY NO: 7089893176

COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT | GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
1/5 J4434947 EURO PALLET -1 156 x 80 x 77 0,96 148,000 187,000 | ACCESSORY PARTS
FRAME
BOX CONTENT
SO LINE LPN NO KIT ltem PART NUMBER DESCRIPTION QTY UuoM NET WEIGHT(KG)
No. SERIAL NUMBER
17.1 J4434947 na 1209304 Gas filter 1 EA 148,000
COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT | GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
2/5 J4434946 EURO PALLET -1 156 x 80 x 77 0,96 148,000 187,000 | ACCESSORY PARTS
FRAME
BOX CONTENT
SO LINE LPN NO KIT Item PART NUMBER DESCRIPTION QTY UoM NET WEIGHT(KG)
No. SERIAL NUMBER
171 J4434946 na 1209304 Gas filter 1 EA 148,000
COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT | GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
3/5 J4434949 EURO PALLET -1 156 x 80 x 77 0,96 148,000 187,000 | ACCESSORY PARTS
FRAME
BOX CONTENT
SO LINE LPN NO KIT ltem PART NUMBER DESCRIPTION QTY UOM NET WEIGHT(KG)
No. SERIAL NUMBER
17.1 J4434949 na 1209304 Gas filter 1 EA 148,000

Page 10 of 20




Packing List

COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT | GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
4/5 14439492 EURO PALLET - 1 156 X 80 x 77 0,96 148,000 187,000 | ACCESSORY PARTS
FRAME
BOX CONTENT
SOLINE | LPNNO KIT Item PART NUMBER DESCRIPTION QTY | UOM | NET WEIGHT(KG)
No. SERIAL NUMBER
17.1 14439492 na 1209304 Gas filter 1 EA 148,000
COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT | GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
5/5 J4434944 EURO PALLET - 1 156 x 80 X 77 0,96 148,000 187,000 | ACCESSORY PARTS
FRAME
BOX CONTENT
SOLINE | LPNNO KIT Item PART NUMBER DESCRIPTION QTY | UOM | NET WEIGHT(KG)
No. SERIAL NUMBER
17.1 J4434944 na 1209304 Gas filter 1 EA 148,000

TOTAL PACKAGES

TOTAL NET WEIGHT (KG)

TOTAL GROSS WEIGHT (KG)

TOTAL VOLUME (M3)

5

740,000

935,000

4,80

Page 11 of 20




PACKING LIST: 1407058

PROJECT NAME: LONGCOAL JIXI PILOT LCMM
PROJECT NUMBER:

DELIVERY NO: 7089893181

Packing List

COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT | GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
1/1 J4435788 CARTON ON 80 x 60 x 62 0,30 165,432 175,000 | ACCESSORY PARTS

PALLET

BOX CONTENT

SO LINE LPN NO KIT ltem PART NUMBER DESCRIPTION QTY UuoM NET WEIGHT(KG)

No. SERIAL NUMBER
12.1.5 J4435788 na 323696 Cable binder 8 EA 0,008
12.1..2 J4438777 na 116558 Terminal..Schraubklemme.Minus.DIN 72331 290A.120.17.5 4 EA 0,400
33.1 J4438793 na 493957 Cable..CAT5 Ethernet.90m.red 1 EA 3,270
12.1..1 J4435786 na 1242791 Battery.Starter battery.VRLA AGM.125.12.FIAMM 4 EA 158,000
12.1..6 J4438787 na 1204072 Decal picture 4 EA 0,004
32.1 J4438768 na 414612 Cable..CAT5 Ethernet.90m.yellow 1 EA 3,110
12.1..3 J4438780 na 116559 Terminal..Schraubklemme.Plus.DIN 72331 290A.120.17.5 4 EA 0,400
12.1.4 J4438704 na 123738 Hood..rubber 8 EA 0,240

TOTAL PACKAGES

TOTAL NET WEIGHT (KG)

TOTAL GROSS WEIGHT (KG)

TOTAL VOLUME (M3)

1

165,432

175,000

0,30

Page 12 of 20




PACKING LIST: 1407957

PROJECT NAME: LONGCOAL JIXI PILOT LCMM
PROJECT NUMBER:

DELIVERY NO: 7090430292

Packing List

COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT | GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
1/1 J4446117 CARTON 40 x 30 x 40 0,05 10,650 12,200 | ACCESSORY PARTS
BOX CONTENT
SOLINE | LPNNO KIT Item PART NUMBER DESCRIPTION QTY | UOM | NET WEIGHT(KG)
No. SERIAL NUMBER
221.1 J4446117 9039011 9039010 Muff.Flange 1 EA 10,650

TOTAL PACKAGES

TOTAL NET WEIGHT (KG)

TOTAL GROSS WEIGHT (KG)

TOTAL VOLUME (M3)

1

10,650

12,200

0,05

Page 13 of 20




PACKING LIST: 1406901

PROJECT NAME: LONGCOAL JIXI PILOT LCMM
PROJECT NUMBER:

DELIVERY NO: 7101497373

Packing List

COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
1/1 J4435419 CARTON 60 x 30 x 40 0,07 6,000 8,000 | ACCESSORY PARTS
BOX CONTENT
SO LINE LPN NO KIT Item PART NUMBER DESCRIPTION QTY UOM NET WEIGHT(KG)
No. SERIAL NUMBER
47.1 J4435419 na 1253819 Controller..PPC3100 i5 2,6 GHz 1 EA 6,000

TOTAL PACKAGES

TOTAL NET WEIGHT (KG)

TOTAL GROSS WEIGHT (KG)

TOTAL VOLUME (M3)

1

6,000

8,000

0,07

Page 14 of 20




PACKING LIST: 1408395
PROJECT NAME: LONGCOAL JIXI PILOT LCMM
PROJECT NUMBER:

DELIVERY NO: 7104057830

Packing List

COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT | GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
1/1 J4446037 CARTON 41 x 32 x 22 0,03 0,640 1,500 | ACCESSORY PARTS
BOX CONTENT
SO LINE LPN NO KIT ltem PART NUMBER DESCRIPTION QTY UoM NET WEIGHT(KG)
No. SERIAL NUMBER
46.1 J4446040 na 1224203 Interface..X20HB8815.Modbus TCP 1 EA 0,110
50.1 J4446037 na 628295 Interface..CANBUS.CS1070 1 EA 0,030
45.1 J4446039 na 1211730 Transducer..X20CM0985-1.MMU 1 EA 0,500

TOTAL PACKAGES

TOTAL NET WEIGHT (KG)

TOTAL GROSS WEIGHT (KG)

TOTAL VOLUME (M3)

1

0,640

1,500

0,03

Page 15 of 20




PACKING LIST: 1408288

PROJECT NAME: LONGCOAL JIXI PILOT LCMM
PROJECT NUMBER:

DELIVERY NO: 7105720571

Packing List

COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
1/1 J4446070 CARTON 20 x 15x 10 0,00 0,086 0,260 | ACCESSORY PARTS
BOX CONTENT
SO LINE LPN NO KIT Item PART NUMBER DESCRIPTION QTY UOM NET WEIGHT(KG)
No. SERIAL NUMBER
48.1 J4446068 na 1254548 Analog input..Vibration 51,5625 kHz 1 EA 0,080
49.1 J4446070 na 1254549 Bus module..BM31 1 EA 0,006

TOTAL PACKAGES

TOTAL NET WEIGHT (KG)

TOTAL GROSS WEIGHT (KG)

TOTAL VOLUME (M3)

1

0,086

0,260

0,00

Page 16 of 20




PACKING LIST: 1410245
PROJECT NAME: LONGCOAL JIXI PILOT LCMM
PROJECT NUMBER:

DELIVERY NO: 7116895984

Packing List

Austria

COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
1/1 J4466881 CARTON 30 x 25 x 20 0,02 0,390 0,900 | ACCESSORY PARTS
BOX CONTENT
SO LINE LPN NO KIT Item PART NUMBER DESCRIPTION QTY UOM NET WEIGHT(KG)
No. SERIAL NUMBER
44.1 J4466881 na 1259382 Oil and lube adhesive.Grease.Mobil Polyrex EM 1 EA 0,390

TOTAL PACKAGES

TOTAL NET WEIGHT (KG)

TOTAL GROSS WEIGHT (KG)

TOTAL VOLUME (M3)

1

0,390

0,900

0,02

Page 17 of 20




PACKING LIST: 1410178

PROJECT NAME: LONGCOAL JIXI PILOT LCMM
PROJECT NUMBER:

DELIVERY NO: 7120183438

Packing List

COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT | GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
1/1 J4468171 CARTON ON 80 X 60 x 65 0,31 14,500 27,000 | ACCESSORY PARTS
PALLET
BOX CONTENT
SOLINE | LPNNO KIT Item PART NUMBER DESCRIPTION QTY | UOM | NET WEIGHT(KG)
No. SERIAL NUMBER
22.1.3 J4468171 9039011 9024571 Compensator 1 EA 14,500

TOTAL PACKAGES

TOTAL NET WEIGHT (KG)

TOTAL GROSS WEIGHT (KG)

TOTAL VOLUME (M3)

1

14,500

27,000

0,31

Page 18 of 20




Packing List

PACKING LIST: 1415267

PROJECT NAME: LONGCOAL JIXI PILOT LCMM
PROJECT NUMBER:

DELIVERY NO: 7166761002

COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT | GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
1/1 J4515063 PALLET WOOD 110 x 70 x 245 1,89 275,000 290,000 | MODUL CONTROL PANEL
BOX CONTENT
SOLINE | LPNNO KIT Item PART NUMBER DESCRIPTION QTY | UOM | NET WEIGHT(KG)
No. SERIAL NUMBER
11.1 J4515063 na 1672106 MCP JGS 420 D175 50__J_BP33 1 EA 275,000
TOTAL PACKAGES TOTAL NET WEIGHT (KG) TOTAL GROSS WEIGHT (KG) TOTAL VOLUME (M3)
1 275,000 290,000 1,89

Page 19 of 20




PACKING LIST: 1416673

PROJECT NAME: LONGCOAL JIXI PILOT LCMM
PROJECT NUMBER:

DELIVERY NO: 7175076032

Packing List

COLLI PACKAGE PACKAGE TYPE PACKAGE DIMENSIONS | VOLUME (M3) | NET WEIGHT | GROSS CONTENT DESCRIPTION
NO. NUMBER (CM) (KG) WEIGHT (KG)
1/1 J4528566 LOOSE 690 x 180 x 220 27,32 10.900,000 10.900,000 | GENERATING SET
BOX CONTENT
SOLINE | LPNNO KIT Item PART NUMBER DESCRIPTION QTY | UOM | NET WEIGHT(KG)
No. SERIAL NUMBER
10.1 J4528566 na 1672114 FA JGS 420 D17550__J_BP33 1 EA 10.900,000

TOTAL PACKAGES

TOTAL NET WEIGHT (KG)

TOTAL GROSS WEIGHT (KG)

TOTAL VOLUME (M3)

1

10.900,000

10.900,000

27,32

SUM OF ALL DELIVERIES

TOTAL PACKAGES

TOTAL NET WEIGHT (KG)

TOTAL GROSS WEIGHT (KG)

TOTAL VOLUME (M3)

20 12.598,853 12.934,220 38,18
SEAL CODE CONTAINER NUMBER TRUCK
2 AR 85 NCL / AR 61 NCL

Page 20 of 20




